JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
(p) (c) () (i) (c) (d) L
56 8 2 14 9 24
63 9 7 49 3 18 2
21 3 10 70 7 22
70 10 8 56 6 21 3.
35 5 9 63 8 23
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(n) (s) (i) (9) (a) (h) '
4 6 4 16 26 6
5 7 10 40 29 9 o
8 10 5 20 22 2
2 4 8 32 25 5 .
7 9 9 36 24 4
8.
D] in@w [24]20] 22|19 8 | in@@ | 4]|3]|9]s o
outm) | 7| 3| 5| 2 out(n) | 36 | 27 | 81 | 72
10.
11.
12,
D linw [24] 165632 100 | ng) | 9 10| 8
out@ | 3| 2| 7| 4 Out (y) | 11 12 | 10
) | inm) [24] 48| 12| 54 ) jney [ 0] 6]5] 7
out@@ | 48| 2109 out(q) | 45| 30| 25 | 35
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 111121 8] 0




JL_

Function Machines - Creating Equations Name: Answer Key
Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output p=+ 7=¢
(p) (c) () (i) (c) (d) L
56 8 2 14 9 24 X7
63 9 7 49 3 18 2 J -
21 3 10 70 7 22
70 10 8 56 6 21 . __Cc+15=d
35 5 9 63 8 23 _
p+7=c jx7=i c+15=d 4 n+2=s
4) Input | Output 5) Input | Output 6) Input | Output . i x 4= g
(n) (s) (i) (9) (a) (h) '
4 6 4 16 26 6 . a-20=h
5 7 10 40 29 9 '
8 10 5 20 22 2 _
2 4 8 32 25 5 v t-1r=n
7 9 9 36 24 4 x Q=
n+2=s ix4=g a-20=h 8. g =n
Nl in@w |24]|20|22]19 8 | In@@ | 4|3|9]s o  W=8=i
out) | 7|1 3| 5|2 out(n) | 36 | 27 | 81 | 72
t-17=n gx9=n 1. Jt2=y
11. m+6=z
12. 1x5=q
D linw [24] 165632 100 | ng) | 9 10| 8
out@ | 32|74 Out (y) | 11 12 | 10
w+8=i jt2=y
) tnm) | 24| 48| 12| 54 ) n@w | 96|57
out@ | 4| 8| 21|09 Out(g) | 45| 30 | 25 | 35
m+6=z tx5=q
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 111121 8] 0




C:# Function Machines - Creating Equations Name:

Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
() (9) (b) (a) (1) (W) 1
70 10 3 20 3 15
42 6 6 23 10 50 2
35 5 8 25 6 30
21 3 9 26 4 20 3.
28 4 7 24 2 10
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(0) (d) (d) (a) (a) (a) '
9 5 11 4 8 24
1 8 17 10 6 18 6
14 10 14 7 2 6
10 6 9 2 5 15 .
13 9 15 8 3 9
8.
N]lin@ |s|2|4]09 8 | Iny | 8|3 9 o
out(®) | 21| 15 | 17 | 22 out(c) | 127|913
10.
11.
12.
| inGg) | 16|40 64|72 100 | inG) | 25| 26| 28| 23
out@@ | 2| 5| 8|9 out(k) | 5| 6| 81| 3
)| inw) | 8|50 9 |20 ) [ jngp) [20] 16|27 14
out) | 8| 5| 9|2 out(@ | 9| 5| 6| 3

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 2 11-12| 8 | O
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Function Machines - Creating Equations

Name:

Answer Key

Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output p= 7 = g
(p) (9) (b) (a) (1) (W) L
70 10 3 20 3 15
+ =
42 6 6 23 10 50 2 _b+l7=a
35 5 8 25 6 30 x5 =
21 3 9 26 4 20 3. - W
28 4 7 24 2 10 _
p+7=g b+17=a | x5=w 4 o-4=d
4) Input | Output 5) Input | Output 6) Input | Output . d-7= q
(0) (d) (d) (9) (9) (a)
9 5 11 4 8 24 q X 3=2a
12 8 17 10 6 18 o
14 10 14 7 2 6
+ =
10 6 9 2 5 15 n_z+15=t
13 9 15 8 3 9 +4=
0-4=d d-7=q gx3=a 8. y =C
Nline |s|2]4]o9 8 | iny | 8|3 9 o j+8=e
Out(t) | 22| 15| 17 | 22 Out(c) | 12 | 7 13
z+13=t y+4=c 10. 1 -20=k
11. u+10=Db
12 p-11=¢
| inGg) | 16|40 64|72 100 | inG) | 25| 26| 28| 23
out@@ | 2| 5| 8|9 out(k) | 5| 6| 8| 3
j*8=e I-20=k
)| inw) | 8|50 9 |20 ) [ jngp) [20] 16|27 14
out) | 8| 5| 9|2 out(@) | 9| 5| 6| 3
u+10=Db p-11=q
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 111121 8] 0




C:# Function Machines - Creating Equations Name:

Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
(0) () (m) (h) (9) () L
9 36 6 12 9 27
7 28 7 13 5 15 2
5 20 4 10 10 30
3 12 9 15 4 12 3.
6 24 10 16 2 6
4.
4) Input | Output 5) Input | Output 6) Input | Output .
() (t) (h) (1) (2) () '
17 7 30 6 90 10 .
13 3 20 4 81 9 '
12 2 45 9 18 2
20 10 50 10 63 7 .
18 8 15 3 45 5
8.
N | ine |18]12]| 16|56 8| in@ | 7] 10|3]2 o
Out(q) | 9|1 6 | 8 |3 Out (w) | 70 | 100 | 30 | 20
10.
11.
12.
Nl ine |3]2]4]6s 10) [ in@ [190]127] 21|22
Qut(g) | 12| 11 | 13 | 15 Oute) | 6 | 4| 8] 9
W g | 73|62 )| ink | 1920|2321
Out(w) | 22| 9| 18 | 6 Out(@ | 5| 6| 9| 7

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 3 11-12| 8 | O




C:# Function Machines - Creating Equations Name: Answer Key

Write an equation to show therelationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output o0x4 :j
(0) () (m) (h) (9) () L
9 36 6 12 9 27
+ 0=
7 28 7 13 5 15 2 _M+6=h
5 20 4 10 10 30 K3t
3 12 9 15 4 12 3 gXo=
6 24 10 16 2 6 . _
O><4:j m+6=nh gx3:f 4, J'lo_t
4) Input | Output 5) Input | Output 6) Input | Output . h+-5=]|
() (t) (h) (1) (2) () '
17 7 30 6 90 10 3 7+9=]
13 3 20 4 81 9
12 2 45 9 18 2 s+ 2=
20 10 50 10 63 7 ! ' 9
18 8 15 3 45 5
j-10=t h=5=I 7-9=] s. 0gx10=w
N | ine |18]12]| 16|56 8| in@ | 7] 10|3]2 o e+9=g
out(q) | 9| 6| 8|3 Out (w) | 70 | 100 | 30 | 20
s+2=q gx10=w 100 a-13=e
11. ] X3=w
12. k -14 = g
Nl ine |3]2]4]6s 10) [ in@ [190]127] 21|22
Out(g) | 12 | 11 | 13 | 15 out@e | 6 | 4| 8|9
e+9=g a-13=e
W ng | 73|62 )| nw) [19]20]|23]| 22
Out(w) [21]|9| 186 out(g) | 5| 6| 9| 7
jX3=w k-14=g

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 3 11-12| 8 | O




C:# Function Machines - Creating Equations Name:

Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
(s) (W) (r) (b) () (r) L
15 3 3 7 9 26
19 7 7 11 3 20 2
21 9 8 12 4 21
17 5 5 9 6 23 3.
20 8 4 8 8 25
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(a (t) (W) (r) (c) () '
16 4 20 10 4 16
14 2 8 4 9 36 6
18 6 14 7 8 32
19 7 16 8 3 12 ’
20 8 18 9 10 40
8.
Dl inm | 9141117 8 | in [9o|7|10] 4 o
OQut(p) | 2| 7 | 4 | 10 Out(q) | 54 | 42 | 60 | 24
10.
11.
12.
| inm [15|12]|9]| 22 00| inw) | 7 (4] 5] 9
Out() | 5| 4 [3] 7 Out(y) | 12| 9| 10| 14
W e [4]5]3]6 2) | in@y |12|9]10] 13
Out(u) | 32 | 40 | 24 | 48 Out(@ | 6 |4| 5| 8

4 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0

[ M ath ] www.CommonCoreSheets.com




C:# Function Machines - Creating Equations Name: Answer Key

Write an equation to show therelationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output s-12=w
(s) (W) (r) (b) (f) (r) L
15 3 3 7 9 26
+ 4=
19 7 7 11 3 20 2 r+4=>b
21 9 8 12 4 21
17 5 5 9 6 23 s __f+17=r
20 8 4 8 8 25 _
s-12=w r+4=nb f+17=r 4. a-12=t
4) Input | Output 5) Input | Output 6) Input | Output . W=2=r
(a) (t) (W) (r) (c) ()
16 4 20 10 4 16 Cx4=]
14 2 8 4 9 36 °
18 6 14 7 8 32 n-7-=
19 7 16 8 3 12 ! P
20 8 18 9 10 40 X 6 =
a-12=t W+2=r cx4=j 8. C _q
Nl inm) [9]14|12]17 8 | in@ | 9|7 |10] 4 . m=3=b
OQut(p) | 2| 7 | 4 | 10 Out(q) | 54 | 42 | 60 | 24
n-7=p cx6=q 10. b+5:y
11. ex8=u
12, |-5=a
Nl inm [15]12|9]|22 V[ inw [7]4]5]09
out() | 5| 4 |3]| 7 Out(y) | 12| 9| 10| 14
m+3=Db b+5=y
W e [4]5]3]6 2) | in@y |12|9]10] 13
Out(u) | 32 | 40 | 24 | 48 out@ | 6 |[4| 5| 8
ex8=u |-5=a
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 111121 8] 0




JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
(2) (9) (f) (h) (9) (h) L
30 5 6 48 8 56
60 10 5 40 2 14 2
54 9 7 56 9 63
36 6 9 72 6 42 3.
18 3 10 80 10 70
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(p) (a) (1) (0) (t) (1) '
11 4 20 9 6 4
17 10 17 6 5 3 o
9 2 15 4 4 2
13 6 13 2 8 6 .
10 3 16 5 9 7
8.
Dl inm | 9|10 7 8 | inte |16]12]20] 10 o
out(k) | 13|14 | 11| 6 out(s) | 8| 6 |10]| 5
10.
11.
12.
9 | ingy) 11 10 inw) | 3] 4]5]|7
out (i) | 5 10 out(t) | 18| 24 | 30 | 42
) [ @ |30|10]|25]15 2) [ in@ | 26|83
out(w)| 6 | 2| 5| 3 out(y) | 16 | 20 | 22 | 17
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




C:# Function Machines - Creating Equations Name: Answer Key

Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output 7+ 6= q
(2) (9) (f) (h) (9) (h) L
30 5 6 438 8 56
X =
60 10 5 40 2 14 2 fx8=h
54 9 7 56 9 63
36 6 9 72 6 42 s __gx7=h
18 3 10 80 10 70 _
z+6=q fx8=h gx7=h 4. p—7—a
4) Input | Output 5) Input | Output 6) Input | Output . |-11=o0
(p) (a) (1) (0) (t) (1)
11 4 20 9 6 4 3 t-o=|
17 10 17 6 5 '
9 2 15 4 4 2
+ 4=
13 6 13 2 8 6 7z __m+4=kK
10 3 16 5 9 7 o=
p-7-a I-11=o0 t-2= 8 €-c=S
Dlinm [9|10]7]2 8 1 in@@ 1612|2010 o y-1=i
Out(k) | 13|14 |11 | 6 Out(s) | 8 6 [ 10| 5
m+4=k e+2=s 10. WX6=t
11. g=5=v
12 (q+l4=y
| iney |6|5|11]4 10 inw) | 3] 4]5]|7
out()|5]4]|10]3 Out(t) | 18 | 24 | 30 | 42
y-1=i wXx6=t
) [ @ |30|10]|25]15 2) [ in@ | 26|83
out(vy | 6 | 2| 5| 3 out(y) | 16 | 20 | 22 | 17
g+5=v g+1l4=y
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
() (d) (c) (1) (c) (b) L
9 22 54 9 20 2
4 17 30 5 100 10 2
10 23 42 7 40 4
7 20 36 6 30 3 3.
6 19 24 4 80 8
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(V) () (9) (h) (e) () '
4 24 40 5 3 27
5 25 80 10 6 54 o
9 29 24 3 5 45
6 26 64 8 9 81 .
10 30 48 6 4 36
8.
N1 in@ | s 719 8 | in(@ |24]|17|23] 16 o
out(c) [ 12| 9] 14| 16 out(p) | 10| 3| 9| 2
10.
11.
12,
Nl ingy | 69| 7] 4 10 | in |12] 14|10 12
Out(q) | 18 | 27 | 21 | 12 Out(j)| 6 | 8| 4|5
| ng | 35|30 25|45 12) [ ine | 8| 5| 4|10
outthy | 7| 6| 5| 9 out(f) | 32| 20 | 16 | 40
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 111121 8] 0




C:# Function Machines - Creating Equations Name: Answer Key

Write an equation to show therelationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output J +13=d
() (d) (© () (© (b) L
9 22 54 9 20 2 c-6=]
4 17 30 5 100 10 2 -
10 23 42 7 40 4
7 20 36 6 30 3 3 _€+10=b
6 19 24 4 80 8 .
j+13=d C:6= c:10=D 4. _ V+20=]
4) Input | Output 5) Input | Output 6) Input | Output . g+ 8=h
(V) () (9) () (e) () '
4 24 40 5 3 27 ex9=f
5 25 80 10 6 54 6
9 29 24 3 5 45
+ =
6 26 64 8 9 81 ! g+r=c
10 30 48 6 4 36
v+20=j g+8=h ex9=f 8. a-l4—p
N1l in@ | 5|2]7]o9 8 | in(@ |24]|17|23] 16 o yx3=q
out(c) | 12| 9| 14 | 16 out@) | 10| 3| 9 | 2
g+7=c a-14=p 10, e-6=|j
11. |+5=nh
12 cx4=f
Nl ingy | 69| 7] 4 10 | in |12] 14|10 12
out(q) | 18 | 27 | 21 | 12 outG)| 6| 8| 4|5
yx3=g e-6=]
| ng | 35|30 25|45 12) [ ine | 8| 5| 4|10
out(h) | 7| 6|59 out(f) | 32| 20 | 16 | 40
i+5=h cx4=f

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 6 11-12| 8 | O




JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
(b) (d) (i) (m) (i) (m) L
5 45 10 9 16 2
2 18 8 7 80 10 2
4 36 4 3 32 4
9 81 11 10 40 5 3.
10 90 5 4 72 9
4,
4) Input | Output 5) Input | Output 6) Input | Output .
() (y) (2) (y) () (b) '
3 18 10 20 8 11
10 60 2 4 7 10 o
7 42 5 10 4 7
6 36 4 8 6 9 .
2 12 8 16 2 5
8.
D] in@ [23]20]19]17 8 | in@ | 5|8|3|10 o
Out(b) | 10| 7 | 6 | 4 out(u) | 35| 56| 21| 70
10.
11.
12,
9 | In@ |10 00 n@w | 9] 5] 3|68
Out(z) | 9 Out(n) | 28 | 24 | 22| 25
1) [ in(p) 5 7 12) { jnqd) [35]40]30] 20
Out (i) 10 12 outn) | 7| 8| 6| 4
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 111121 8] 0




C:# Function Machines - Creating Equations Name: Answer Key

Write an equation to show therelationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output bx9=d
(b) (d) (i) (m) (i) (m) L
5 45 10 9 16 2 C1=m
2 18 8 7 80 10 2 -
4 36 4 3 32 4 ig-
9 81 11 10 40 5 3 1~o=Mm
10 90 5 4 72 9 _ ~
bx9=d i-1=m i=8=m a. ] X6=y
4) Input | Output 5) Input | Output 6) Input | Output . 7% 2= y
() v) (2) v) () (b) '
3 18 10 20 8 11 . i +3=D
10 60 2 4 7 10
7 42 5 10 4 7 3
6 36 4 8 6 9 7 d-13=D
2 12 8 16 2 5 <7 =
jx6=y zZx2=y j+3=b 8 a -
Dl in@) [23]20]19]17 81 in@ | 5|8 3|10 o c-1=7
out) | 10| 7| 6 | 4 Out(u) | 35| 56 | 21 | 70
d-13=b ax7=u 100 t+19=n
11. p+5=i
122 d+5=n
| in@@ [10]|9]4]3 1 in@y | 9] 5| 3]s
out@ | 9 |8|3]|2 out(n) | 28 | 24| 22 | 25
c-1=z t+19=n
WM ine |3]5]2]7 12) | 1n@) | 35|40 30|20
out@ | 8|10 7] 12 outn) | 7| 8| 6| 4
p+5=i d+5=n

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 7 11-12| 8 | O




C:# Function Machines - Creating Equations Name:

Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
(2) (k) (h) (v) (V) (m) L
24 4 8 24 5 9
26 6 5 21 9 13 2
25 5 9 25 2 6
22 2 10 26 8 12 3.
28 8 4 20 4 8
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(9) (k) (d) (9) () () '
6 9 6 11 21 3
7 10 9 14 26 8 6
8 11 7 12 28 10
3 6 8 13 24 6 ’
2 5 4 9 22 4
8.
N ] in@ |1848|54] 30 8 | In@@ | 9] 7| 5|10 o
Out(n) | 3| 8| 9|5 Out(y) | 63 | 49 | 35 | 70
10.
11.
12.
Dl inw |9 7|53 100 | In) |14] 15| 22| 17
Out(p) | 45| 35| 25 | 15 out(h | 2| 3|10 5
) jneg | 18| 12|20 16 ) in@ | 9|10]2] 5
out(j) | 9 | 6 |10 ]| 8 Out(e) | 27| 30| 6| 15

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 8 11-12| 8 | O




C:# Function Machines - Creating Equations Name: Answer Key

Write an equation to show therelationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output 7-20=k
(2) (k) (h) (y) (V) (m) L
24 4 8 24 5 9
+ =
26 6 5 21 9 13 2 __h+16=y
25 5 9 25 2 6 ia-
22 2 10 26 8 12 3 __vra=-m
28 8 4 20 4 8 _
z-20=K h+16=y V+4=m ) s+3=Kk
4) Input | Output 5) Input | Output 6) Input | Output . d+5= q
(s) (k) (d) (9) () (p) '
6 9 6 11 21 3 s j-18=p
7 10 9 14 26 8 '
8 11 7 12 28 10 7+26=n
3 6 8 13 24 6 . '
2 5 4 9 22 4 X7 =
s+3=k d+5=q j-18=p 8. g =y
N ] in@ |1848|54] 30 8 | In@@ | 9] 7| 5|10 o  kx5=p
out()| 3|8 | 9|5 out(y) | 63 | 49 | 35 | 70
z+6=n qx7=y 10. o-12=|
11, f+2=]
12. sx3=e
Dl inw |9 7|53 100 | In) |14] 15| 22| 17
out(p) | 45| 35| 25| 15 out()| 2| 3|10]| 5
kx5=p o-12=|
) jneg | 18| 12|20 16 ) in@ | 9|10]2] 5
out() | 9| 6 |10 8 out(e | 27|30 | 6| 15
f+2=]j sx3=e

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 8 11-12| 8 | O




JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
(2) (€) (m) (i) (2) (p) L
8 28 64 8 90 9
4 24 48 6 60 6 2
5 25 72 9 70 7
7 27 24 3 50 5 3.
10 30 80 10 80 8
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(2) (h) (u) (n) (h) (f) '
72 9 14 10 15 7
56 7 12 8 10 2 o
32 4 9 5 18 10
80 10 7 3 17 9 .
24 3 11 7 12 4
8.
D] inw |45] 18|27 36 8 | Ine 8| 9|4 o
out(h)| 5| 2| 3| 4 Out (g) 11 | 12
10.
11.
12.
Dl in@ |[7|10]3]|09 10) 1 In(o) 7
Out (j) | 35| 50 | 15 | 45 out(h) | 9 | 10 5
M| In@) |20|26]22] 21 2) | inw | 8|9
Out(y) | 3| 9| 5| 4 Out(a) | 14 | 15
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 111121 8] 0




C:# Function Machines - Creating Equations Name: Answer Key

Write an equation to show therelationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output 7+20=e
(2) (€) (m) (i) (2) (p) L
8 28 64 8 90 9 m=8=i
5 25 72 9 70 7
7 27 24 3 50 5 .. _z+710=p
10 30 80 10 80 8 o
z+20=e m-=8=j Z+10:p 4, ZTS—h
4) Input | Output 5) Input | Output 6) Input | Output . u-4=n
(2) (h) (u) (n) (h) (f)
72 9 14 10 15 7 h-8=f
56 7 12 8 10 2 o
32 4 9 5 18 10 C A
80 10 7 3 17 9 ! t+9=h
24 3 11 7 12 4 +3=
z+8=h u-4=n h-8=f 8. C -9
D] inw |45] 18|27 36 8 | In@ [5] 8] 94 . ex5=]
outthy | 5| 2| 3| 4 Out(g) | 8|11 | 12
t+9=h c+3=g 1. 0+3=h
11. o-17= Yy
12 k+6=a
D ine | 7|10] 3] 09 100 | In) [6] 7
Out() | 35|50 | 15| 45 OQut(h) | 9|10 7|5
ex5=] o+3=h
W jn) |20|26|22]21 ) [ inw | 8] 9
Out(y) | 3| 9| 5| 4 Out(a) | 14 | 15
0-17=y k+6=a
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 111121 8] 0




JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between the input and the output. Answers
D) Input | Output 2) Input | Output 3) Input | Output
(c) (W) (n) (0) (W) (h) L
5 6 16 2 13 4
8 9 21 7 11 2 2
3 4 24 10 17 8
6 7 19 5 18 9 3.
2 3 18 4 19 10
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(W) (9) () (€) (k) (f) '
6 60 2 4 8 80 6
7 70 8 10 10 100 '
3 30 6 8 3 30
5 50 3 5 2 20 .
8 80 4 6 5 50
8.
N1 In@ 10159 8 | n@® | 7]5] 09 o
Out (n) 51|10 Out(a) | 14 | 10 | 18
10.
11.
12.
| in(r) |12]30]| 21|24 100 | In@@ | 20 12 | 24
Out(@ | 4 |[10] 7 | 8 out(n) | 5 |2 6
W | inw) |30] 24 )| ingy | 7|10 5
out (k) | 10 | 8 Out(e) | 13 | 16 11
1-10 | 9283 75|67 [58[50] 4233|2517 |
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C:# Function Machines - Creating Equations Name: Answer Key

Write an equation to show therelationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output c+l=w
(c) (W) (n) (0) (W) (h) L
5 6 16 2 13 4 3
8 9 21 7 11 2 2 __Nn-14=0
3 4 24 10 17 8
6 7 19 5 18 9 s __W-9=h
2 3 18 4 19 10 _
c+l=w n-14=o0 w-9=h 4. wx10=g
4) Input | Output 5) Input | Output 6) Input | Output . J +2=¢
(W) (9) () (€) (k) (f) '
6 60 2 4 8 80 6 k x 10 = f
7 70 8 10 10 100 '
3 30 6 8 3 30 a-5=n
5 50 3 5 2 20 .
8 80 4 6 5 50 fxD=
wx10=¢g j+2=e kx10=f 8. =a
N | in@ [8|10]15]09 | mn@® [7]5] 9|3 o r-3=g
out(n) | 3| 5|10 4 Out(a) | 14 | 10 | 18
a-5=n fx2=a 10. g+4=n
11. u+3=K
12. r+6=e
| in(r) |12]30]| 21|24 10) | in@@ |20|8]| 12|24
out@ | 4 |10] 7| 8 outm) | 52| 3| 6
r-3=a g+4=n
[ jnw) [30]24]6]09 ) [ jngy | 7]20]2] 5
out(k) | 10| 8 | 2|3 out(e) | 13| 16 | 8 | 11
u+3=Kk r+6=e
1-10 | 9283 75|67 [58[50] 4233|2517 |
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